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Question Id : 68634043039 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the sereen. This included dialogues, musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However, colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634043040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340170001. 1

686340170002. 2

686340170003. 3
686340170004. 4

Question Number : 2 Question Id : 68634043041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| )

. selfies
3. besties
4, talkies

Options :

686340170005. 1
686340170006. 2
686340170007. 3
686340170008. 4



Question Number : 3 Question Id : 68634043042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing’ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
686340170009. 1
686340170010. 2

686340170011. 3
686340170012. 4

Question Number : 4 Question Id : 68634043043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

[ ]

. synchronization
3. adhering
4. business
Options :
686340170013. 1
686340170014. 2

686340170015. 3
686340170016. 4

Question Number : 5 Question Id : 68634043044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :



686340170017. 1
686340170018. 2
686340170019. 3
686340170020. 4

Question Id : 68634043039 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s, film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues, musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634043040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340170001. 1

686340170002. 2

686340170003. 3
686340170004. 4

Question Number : 2 Question Id : 68634043041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

[ ]

. selfies
3. besties
4. talkies

Options :

686340170005. 1
686340170006. 2
686340170007. 3
686340170008. 4

Question Number : 3 Question Id : 68634043042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

[ )

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340170009. 1
686340170010. 2
686340170011. 3
686340170012. 4

Question Number : 4 Question Id : 68634043043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action mn the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business
Options :
686340170013. 1

686340170014. 2
686340170015. 3



686340170016. 4

Question Number : 5 Question Id : 68634043044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

[ )

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340170017. 1
686340170018. 2
686340170019. 3
686340170020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401410
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634043045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.
A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. m the southwest of England
D. in Wistinan's Wood 1n Dartmoor National Park

LABCD

| )

DEBA
3.B.D.A.C
4.C,A.D,B

Options :

686340170021. 1
686340170022. 2
686340170023. 3
686340170024. 4



Question Number : 6 Question Id : 68634043045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. m the southwest of England

D. m Wistman's Wood in Dartmoor National Park

LABCD

| )

BPE, B A
3.B.DAC
4. C.A.D.B
Options :
686340170021. 1
686340170022. 2

686340170023. 3
686340170024. 4

Question Number : 7 Question Id : 68634043046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy
3. Cartography
4. Topography

Options :

686340170025. 1
686340170026. 2
686340170027. 3
686340170028. 4

Question Number : 7 Question Id : 68634043046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?
1. Epigraphy

2. Calligraphy

L]

. Cartography
4. Topography

Options :

686340170025. 1
686340170026. 2
686340170027. 3
686340170028. 4

Question Number : 8 Question Id : 68634043047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

| B

. sycophantic

%]

. disruptive
4. obsequious

Options :

686340170029. 1
686340170030. 2
686340170031. 3
686340170032. 4

Question Number : 8 Question Id : 68634043047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic
3. disruptive
4. obsequious
Options :

686340170029. 1
686340170030. 2



686340170031. 3
686340170032. 4

Question Number : 9 Question Id : 68634043048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill m the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside, during

| )

. besides. beside

Lad

. during. beside
4. with. on

Options :

686340170033. 1
686340170034. 2
686340170035. 3
686340170036. 4

Question Number : 9 Question Id : 68634043048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill m the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside, during
2. besides, beside
3. during. beside
4. with, on
Options :
686340170033. 1
686340170034. 2

686340170035. 3
686340170036. 4

Question Number : 10 Question Id : 68634043049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Word Tvpe of pronoun
A [whart I. jreflexive
B. jmyself 1. |relative
C. |his 1. hindefinite
D. [somewhere IV, |possessive

Choose the most appropriate answer from the options given below:

1. A-II. B-1. C-IV, D-III

[ ]

CA-LBAILL C-ITL D-IV

L]

AT B-L C-IV, D-II
4. A-IV, B-1I, C-I, D-II

Options :

686340170037. 1
686340170038. 2
686340170039. 3
686340170040. 4

Question Number : 10 Question Id : 68634043049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Word Type of pronoun
A twhat I jreflexive
B. lmyself II. kelative
C. fhis II1. jindefinite
D._ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-1. C-IV, D-III

| ]

AT BHIILL C-T1, D-IV
3. A-IIL B-I, C-IV, D-II
4. ATV, B-II, C-I, DI

Options :

686340170037. 1
686340170038. 2
686340170039. 3
686340170040. 4



Question Number : 11 Question Id : 68634043050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

2

.16

4, 22

Options :

686340170041. 1
686340170042. 2
686340170043. 3
686340170044. 4

Question Number : 11 Question Id : 68634043050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

2

.16

4, 22

Options :

686340170041. 1
686340170042. 2
686340170043. 3
686340170044. 4

Question Number : 12 Question Id : 68634043051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify
s e W W S

1.0.18

[ ]
=

4,-2.6

Options :

686340170045. 1
686340170046. 2
686340170047. 3
686340170048. 4

Question Number : 12 Question Id : 68634043051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Simplify

09-[23-32-(73-54-3.7)]

1.0.18

[ ]
=

4,-2.6

Options :

686340170045. 1
686340170046. 2
686340170047. 3
686340170048. 4

Question Number : 13 Question Id : 68634043052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L1775
2. 10:9
3. 114:113
4. 196:187

Options :

686340170049. 1
686340170050. 2
686340170051. 3
686340170052. 4

Question Number : 13 Question Id : 68634043052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340170049. 1
686340170050. 2
686340170051. 3
686340170052. 4

Question Number : 14 Question Id : 68634043053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1.2 5,780

| B

. € 7,805

3.2 7.850

4, Z 8,750



Options :

686340170053. 1
686340170054. 2
686340170055. 3
686340170056. 4

Question Number : 14 Question Id : 68634043053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per anmum, the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.7 5.780
2.3 7805
3.2 7.850
4. T 8,750
Options :
686340170053. 1
686340170054. 2

686340170055. 3
686340170056. 4

Question Number : 15 Question Id : 68634043054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 18 years

Options :

686340170057. 1
686340170058. 2
686340170059. 3
686340170060. 4

Question Number : 15 Question Id : 68634043054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys 1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he iz 8 years older to the youngest of them.

1. 24 years

|

. 25 years
3. 26 years
4. 18 years
Options :
686340170057. 1
686340170058. 2

686340170059. 3
686340170060. 4

Question Number : 16 Question Id : 68634043055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below 1s the statement followed by two conclusions numbered I and 1L

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not mvest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340170061. 1
686340170062. 2
686340170063. 3
686340170064. 4

Question Number : 16 Question Id : 68634043055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and I

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
II : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340170061. 1
686340170062. 2
686340170063. 3
686340170064. 4

Question Number : 17 Question Id : 68634043056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

A

Fig (x)

7P

Options :

686340170065. 1
686340170066. 2
686340170067. 3
686340170068. 4

Question Number : 17 Question Id : 68634043056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

A

Fig (x)

IR

Options :

686340170065. 1
686340170066. 2
686340170067. 3
686340170068. 4

Question Number : 18 Question Id : 68634043057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system, if 2=15, 4=18. 6 =39 then 10 =7

1. 105

| B
[y
=
e

4.54

Options :
686340170069. 1



686340170070. 2
686340170071. 3
686340170072. 4

Question Number : 18 Question Id : 68634043057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system, if 2=15, 4=18. 6 =39 then 10 =7

1. 105

| B

104
3. 89
4.54

Options :

686340170069. 1
686340170070. 2
686340170071. 3
686340170072. 4

Question Number : 19 Question Id : 68634043058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the mirror image of the given combination

"ANS4WMG3"
LEOMWERCUA
LEDWMPSNVY
3.3GWMt2 MY
1L ECWMP2UY

Options :
686340170073. 1
686340170074. 2

686340170075. 3
686340170076. 4

Question Number : 19 Question Id : 68634043058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"ANS4WMG3"
LEDMWAZMA
2.EDWMPSNV
3.3GWMt UV
4L ECWMP2 MY

Options :

686340170073. 1
686340170074. 2
686340170075. 3
686340170076. 4

Question Number : 20 Question Id : 68634043059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In you were born on 6™ November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2. Wednesday

3. Tuesday

4, Friday
Options :
686340170077. 1
686340170078. 2

686340170079. 3
686340170080. 4

Question Number : 20 Question Id : 68634043059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6™ November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2

. Wednesday

LFN]

. Tuesday

=Y

. Friday

Options :

686340170077. 1
686340170078. 2
686340170079. 3
686340170080. 4

Question Number : 21 Question Id : 68634043060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ )

. Stationary Satellite
3. Geostationary Satellite

4, INSAT
Options :
686340170081. 1
686340170082. 2

686340170083. 3
686340170084. 4

Question Number : 21 Question Id : 68634043060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite
2. Stationary Satellite

3. Geostationary Satellite

4, INSAT



Options :

686340170081. 1
686340170082. 2
686340170083. 3
686340170084. 4

Question Number : 22 Question Id : 68634043061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Aluminium company Location
A BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KOEAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV. D-II

| ]

CA-IL B-IV, C-I, D-TTI

LFS]

AL B-IV, C-1. D-1I
4. A-IL B-1, CIV, D-III

Options :

686340170085. 1
686340170086. 2
686340170087. 3
686340170088. 4

Question Number : 22 Question Id : 68634043061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Aluminium company Location
A BALCO [ HIRAKUND
B. [HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV. RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV, D-II

[ ]

CA-IL B-TV, C-1, D-TIT
3. AL B-IV, C-1, D-I
4. A-II B-1, C-IV, D-1I

Options :

686340170085. 1
686340170086. 2
686340170087. 3
686340170088. 4

Question Number : 23 Question Id : 68634043062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340170089. 1
686340170090. 2
686340170091. 3
686340170092. 4

Question Number : 23 Question Id : 68634043062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known ag

1. Decorum

[ ]

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340170089. 1
686340170090. 2
686340170091. 3
686340170092. 4

Question Number : 24 Question Id : 68634043063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society 1M1 [Dayanand Saraswati
D. [Social Sevice League IV, [Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. AL B-IV. C-11. D-I

[ ]

AL B-IV, C-1. D-1I
JAIVBENL CIDMU
4. A-II B-IV, C-1, D-1II

Options :

686340170093. 1
686340170094. 2
686340170095. 3
686340170096. 4

Question Number : 24 Question Id : 68634043063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Ramakrishna Mission IT. IN.M Joshi
C. |Servant of Indian society II1. |Davanand Saraswati
D. [Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIIL B-IV, C-I1. DI
2. AT B-IV. C-I.D-IT
3. A-IV.B-III, C-1. D-I
4. A-IL B-IV, C-1. D-III

Options :

686340170093. 1

686340170094. 2

686340170095. 3
686340170096. 4

Question Number : 25 Question Id : 68634043064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave 1s known as

1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre

Options :

686340170097. 1

686340170098. 2

686340170099. 3
686340170100. 4

Question Number : 25 Question Id : 68634043064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave 1s known as

1. Seismic zone

b2

. Focus

L¥ 5]

. Photosphere
4. Epicentre

Options :

686340170097. 1
686340170098. 2
686340170099. 3
686340170100. 4

Part B: Nanoelectronics Material Sciencs

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

686340848
2

Online
Mandatory
75

75

300

Yes

0

1
6863401411
Yes

null

Question Number : 26 Question Id : 68634043065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When an intrinsic semiconductor is doped with pentavalent impurity its fermi level

1. shuft towards conduction band

| B

. shift towards valence band

LIPS ]

. does not change

4. show random shuft

Options :

686340170101. 1
686340170102. 2
686340170103. 3
686340170104. 4



Question Number : 26 Question Id : 68634043065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od U HdND e i dergd< (pentavalent) LR 313“3 %Wtﬁﬁlﬂmm% SIRSESED
U wR

1. W@{concluctioﬂ band) B AR WHEERd gl 6l
2. 309 U2 T 3R WHARd B 81
3. 9Rac TRl BT 8 |

4. OTef55® dead suidi gl

Options :

686340170101. 1
686340170102. 2
686340170103. 3
686340170104. 4

Question Number : 27 Question Id : 68634043066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a PN Junction diode

A. The depletion region width increases with an increase is applied reverse bias voltage.

B. Depletion region width increases with an mcrease in applied forward bias voltage .

C. Depletion region width depends upon the doping level of the doped semiconductor region.
D. Depletion region width does not depend on the doping of doped semiconductor region.

Choose the correct answer from the options given below:
1. A, C Only
2. A. B Only
3. C.D Only

4. B.D Only

Options :

686340170105. 1
686340170106. 2
686340170107. 3
686340170108. 4

Question Number : 27 Question Id : 68634043066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PN Gia¥H SMie H

- ffRIe SISUTT (reverse bias) Gleed & S¢ 4 TR TUIoH &7 &1 9181 dgat ¢
mﬁﬁm(iommd bms)ﬁﬁ@ﬁ%@ﬁ@ﬁm ﬂ%ﬂﬁﬁ?ﬂé@ﬂ?ﬂ%l

- HauYg Ueiftreiid e ades & & SIft TR W IR JUieH &3 o1 91 R sl gl
Jaerg vEiftaeiia Gridade 847 & SIft IR a9y &7 &t 9rels IR UHE el gadll

2 fau U feeedl § € 9l IR S -
1.$ad A. C
2. Had A, B
3.%a0C. D
4.9dd B, D

.l;;'l..uldl—l

Options :

686340170105. 1
686340170106. 2
686340170107. 3
686340170108. 4

Question Number : 28 Question Id : 68634043067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: The transition capacitance dominates in Reverse Bias region.
Statement II: Diffusion capacitance dominates in forward bias region.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II 1s incorrect
4. Statement I is incorrect but Statement IT is correct
Options :
686340170109. 1
686340170110. 2

686340170111. 3
686340170112. 4

Question Number : 28 Question Id : 68634043067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SIEEICAICAEUE) I E
T (1) : T4 TISU & (reverse bias region) T TeHUI TR U@ & &1
TY (11) : 319 FISUN (forward bias) &3 T [ERUT &A1 Y@ TG 5|
SWRIFd BYF & 3l H, A1 4T T f[ddbedi & I Hel Gov &1 99 Difoie:
1. PYT 1 AR BYT I GH A B
2. BYT AR BUTI &I S A g |
3. Y1 9 § Alp BYF 11 39 B
4. Y1 Y § Al HYA I I 8|
Options :
6863401701009. 1
686340170110. 2

686340170111. 3
686340170112. 4

Question Number : 29 Question Id : 68634043068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the following Circuit, determine the value of I

1 Ve

=5 [~J
L1
i

+
—_— 0V %”’Q

Assume the voltage drop across forward bias Si diode 15 0.7V

1. 3.65mA

[ ]

. 4.65 mA
3.5 mA

4, 0mA

Options :

686340170113. 1
686340170114. 2
686340170115. 3
686340170116. 4



Question Number : 29 Question Id : 68634043068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- f&u 7w wfde @imy) & [ 1 &1 aE FuRo &30

+ \,fo_
™~
L1

Si

+
—— 0V %”‘Q

T witfore fa5 3r1 I5U si 39S W dieedl TR1Ge 0.7V §1

—_

Y

1.3.65mA

[

. 4.65 mA
3.5 mA

4, 0mA

Options :

686340170113. 1
686340170114. 2
686340170115. 3
686340170116. 4

Question Number : 30 Question Id : 68634043069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the following BJT Circuit
20V
|
|

Ic,l
20 kO % 10 k€2

‘ S =100
VBE=0.7V
20 kQ §
1.5 kQ

The value of I~ 15 :

1. 5.75 mA

| ]

.5 mA

3. 510 mA

4.

[}

95 mA

Options :

686340170117. 1
686340170118. 2
686340170119. 3
686340170120. 4

Question Number : 30 Question Id : 68634043069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= fau e BT Aide o) & fou|
20V

|

|

I
20 kO % C\l, 10 kQ

‘ B =100
) VBE=0.7V
20 £C) §
1.5kQ

IC B 7 a8l

1

Ln

75 mA

-2
L

.S mA
3. 5.10 mA
4, 5.95 mA

Options :

686340170117. 1
686340170118. 2
686340170119. 3
686340170120. 4

Question Number : 31 Question Id : 68634043070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
[
A VT characteristics of a Tunnel diode i3
»\‘
I
B. |VI charactenistics of PN diodes 115
R v
C. |Tunnel Diode exhibits ITI. [Negative resistance
D |Ordinary diode exhibits IV |Positive resistance

Choose the correct answer from the options given below:

1. A-I. B-II., C-III. D-IV

| )

A-IL B-1. C-III, D-IV

L

CA-IL B-II, C-IV. D-III
4. A-IT, B-1. C-IV, D-III

Options :

686340170121. 1
686340170122. 2
686340170123. 3
686340170124. 4

Question Number : 31 Question Id : 68634043070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 I 11 & 91y e SIfe .
T 1 et 11

A [ed S/ES ® v fagar I

T
g [ATURO 41U STaTs B v faRieeT (vi| o
" |characteristics) ' i 'f i
klll'

N .T
C. [ea srs welid s gl m.ft

resistance

D. [G1YRY SEIS UaHid &id %I IV. |Positive resistance
fafead fasedl O I Gdl GTv &1 99 S -

1. A-L. B-II. C-III. D-IV

| E)

A-IL B-1, C-III. D-IV

[#5]

CA-LL B-IIL C-IV, D-ITT
4, A-I1, B-1. C-IV, D-III

Options :

686340170121. 1
686340170122. 2
686340170123. 3
686340170124. 4

Question Number : 32 Question Id : 68634043071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In JFET. for a particular value of gate voltage. the drain current saturates as we increase the Vg beyond a

certain level, it happens because :

1. Increased channel resistances due to the narrowing of the channel
2. the drain no longer attracts the electrons
3. all the electrons are exhausted
4. All the holes are exhausted

Options :

686340170125. 1

686340170126. 2

686340170127. 3
686340170128. 4



Question Number : 32 Question Id : 68634043071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JEFT ¥ U 999 A & {10 712 dicedl & W1y od 89 Vo B Hi%d w1 U fE@ gd 8, dl o [9g49d (drain
current) Hﬂﬁﬁaw%’*r ZIE’GHW@?H%%

1. T & by & HRU I WIcRiY §¢ ol o
2. 3 (Drain) 3@ SAG DI b itd T8l BT B
3. 9l sege T @A B oI &

4. IR 5% (hole) @ &l MY B

Options :

686340170125. 1
686340170126. 2
686340170127. 3
686340170128. 4

Question Number : 33 Question Id : 68634043072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In MOSFET. keeping all other factor constant. when SiO,/gate oxide, thickness is increased. the drain current

will

1. Increase

[ ]

. Decrease

3. Remains constant

e

. changes arbitrarily

Options :

686340170129. 1
686340170130. 2
686340170131. 3
686340170132. 4

Question Number : 33 Question Id : 68634043072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MOSFET H, 3/ Tt FR®| o fRR [@d 8T 94 $i0,/71C 35S HieT §¢lg ol ¢, dl o f[degd

(drain current)

1. §¢ S|
2. HH BT
3. RR T
4. A gRaHl

Options :

686340170129. 1
686340170130. 2
686340170131. 3
686340170132. 4

Question Number : 34 Question Id : 68634043073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The MOSFET has much higher Input impedance as compared to BJT. this can be attributed to

1. The presence of gate oxide in MOSFET

[ )

. Due to the unipolar nature of MOSFET

L]

. MOSFET has lower channel doping
4. Both the source and the drain have same dopants

Options :

686340170133. 1
686340170134. 2
686340170135. 3
686340170136. 4

Question Number : 34 Question Id : 68634043073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MOSF%T. BIT &1 Qo1 H dgd 3ife/d 792 3Tda-1epul HUls gial ¢ o/ g4 RUI 4 Hafed faar o
Hpdl & :

1. MOSFET ¥ 712 S{iIgs &1 Aiger

. MOSFET &1 UHUITR Ydbid & BRI

. MOSFET ¥ 4as 9711 Sift

I 3R 31§ GHM SO € @1 gofg I

[

L]

e

Options :

686340170133. 1
686340170134. 2
686340170135. 3
686340170136. 4

Question Number : 35 Question Id : 68634043074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the given OP-AMP circuit

2k
AN

1 kG2
AN
1 v

The normalised frequency response(V_/V; vs f) is

1. v,
v, |
|
I
|
I
|
|
7.96kH. /
2. v,
\
I
I
|
|
|
! —
10.96kH. '
3 %
.ri
|
/o
|
|
|
| >
7.96 kH. '
4' \'{1 K
Vi
|
|
|
|
|
| :..
10.96 kH._ 4

Options :

686340170137. 1
686340170138. 2
686340170139. 3
686340170140. 4

Question Number : 35 Question Id : 68634043074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fau U sffo-7r (OP-AMP) 99y &1 @ # &1

240
ANV

1 k€2

J_W'\"\"‘

1. w,
l |
|
|
|
[
| f
7.96kH. '
2. v, A
I
|
|
|
|
> f
10.96kH.
3w
Vi
|
[
|
I
y
7.96 kH.
4. W
V,
i
|
|
I
' /
10.96 kH._
Options :

686340170137. 1
686340170138. 2
686340170139. 3
686340170140. 4



Question Number : 36 Question Id : 68634043075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the following figure.

1402
—— AN
V - \ll; +
e 0., R :
C V;. &g L 0.6 kQ2

Determine the value of Vi

1531

| ]
Ln
—

4.5

Options :

686340170141. 1
686340170142. 2
686340170143. 3
686340170144. 4

Question Number : 36 Question Id : 68634043075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1kQY
— A\
+ le +
¥ —T=BY 3
C V, -5V Ry < 0640

1:3:1

b2
n
i

Options :

686340170141. 1
686340170142. 2
686340170143. 3
686340170144. 4

Question Number : 37 Question Id : 68634043076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In an oscillator circuit, if the amplifier provide a phase shift of 180°, the feedback should also
provide a phase shift of 180°.
Reason R: This is to ensure that total phase shift in the loop 1s 360° or 0°

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

686340170145. 1
686340170146. 2
686340170147. 3
686340170148. 4



Question Number : 37 Question Id : 68634043076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR P RT TR 1P € AfieYT (A) & =0 H fEd § O R 59 BRU R) F U H:

AFUPYT (A) : TP TRceR Tfhe §, 1% TeerR 180 59 &1 e e wem =ar 8. @ wfafea
(feedback) BT U 180 &1 BT Bol fAHE UaH B! AU

HRUT (R) : T8 YHIET B3 & 70§ g el e 360 f&9fl g1 am o fsiit
IRIGd HUA & ATdiD H, A Qv 0 fasedi 4 9 98t IO &1 99 DIl
1. AR REH 90§ IR R A DI Gl IR &

2. A 3R R I T T AR R, A B GEl A TR &

3. AU E AT R 3IOAE

4. AT ABPTIRIT S

Options :

686340170145. 1
686340170146. 2
686340170147. 3
686340170148. 4

Question Number : 38 Question Id : 68634043077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The condition for maximum power to be transferred is represented by

L2y =21y

[

2y =Z1n

L¥%]

2y = Z1H

=

: ZL = ZTH

Options :

686340170149. 1
686340170150. 2
686340170151. 3
686340170152. 4

Question Number : 38 Question Id : 68634043077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

siftmar Tifag Joferd o ®f fUfa = ufafgd fear s g1

LZy=Zry

4.7; > Zry

Options :

686340170149. 1
686340170150. 2
686340170151. 3
686340170152. 4

Question Number : 39 Question Id : 68634043078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Advantage of using digital technique is

1. Only two levels ("ON' or 'OFF') of voltage or current are used. which make it easier to design circuitry.

b2

. Digital circuits are more prone to noise

L¥ 5]

. Digital techniques provide lesser accuracy
4. Digital techniques enable placing of less integrated circuits (IC) on chips

Options :

686340170153. 1
686340170154. 2
686340170155. 3
686340170156. 4

Question Number : 39 Question Id : 68634043078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fefored da-id &1 3TN &1 & TIH|

1. Bad &l &R (A1 1 '6g) & diecdl g HLe BT YA [l Sl 5. (69 Fidbe (AHI01 =1 319
FEIGIE

2.%@@%3%(11@3&]%9’% B@Tﬁﬂaﬁ?ﬂﬁgﬁgl
3. faforea do-ite Seaa® Udl § & Iidmdl U Sdl gl

o o

4. T3fored dm-te! & Tergar ¥ I R &9 5élics Iidbed (10) &f -iifud fear ot gl gl

Options :

686340170153. 1
686340170154. 2
686340170155. 3
686340170156. 4

Question Number : 40 Question Id : 68634043079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Convert (573)g to its hexadecimal equivalent

1. 100111011,

| )

. 1011110114

Lad

. 100110011,
4. 100111101,

Options :

686340170157. 1
686340170158. 2
686340170159. 3
686340170160. 4

Question Number : 40 Question Id : 68634043079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(573); DI SHb SIS T FHa4 1 gRafid $1 |

1. 100111011,

| )

. 101111011,

Lad

. 100110011,
4.100111101,

Options :

686340170157. 1
686340170158. 2
686340170159. 3
686340170160. 4

Question Number : 41 Question Id : 68634043080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Kirchhoff's current law (KCL) follows
1. Law of conservation of charge
2. Law of conservation of energy
3. An equipotential point at which two or more circuit elements are joined
4, a part of network which lies between junction points
Options :
686340170161. 1
686340170162. 2

686340170163. 3
686340170164. 4

Question Number : 41 Question Id : 68634043080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferafgl® (Kirchhoff Law) T 4RT (current) FOH SFERUI &=l 81
. A9 (charge) P TREUI BT (70|
Sl &b EREUT BT gH|
.U TH& W Slel &1 U1 34f¥e Ifdhe ddl &I Sie1 Jar g
U& -ead &1 U o o O fag & 9 g gl g1

a—y

[

L]

=S

Options :



686340170161. 1
686340170162. 2
686340170163. 3
686340170164. 4

Question Number : 42 Question Id : 68634043081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Obtain the value of R in the circuit of given in the following figure:

5A (D vV R

]
=2
n
=
@]

4.0.125Q

Options :

686340170165. 1
686340170166. 2
686340170167. 3
686340170168. 4

Question Number : 42 Question Id : 68634043081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=itdl fET Y 3mpid & U9y (Ffdhe) # R B AT A B

sa (D B $'n

[
=
Lh
==
]



Options :

686340170165. 1
686340170166. 2
686340170167. 3
686340170168. 4

Question Number : 43 Question Id : 68634043082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Impedance (Z) of an AC Circuit

1. changes with system frequency

| B

. does not change with system frequency
3. 1s independent of sinusoidal voltage source
4. depends on phase angle

Options :

686340170169. 1
686340170170. 2
686340170171. 3
686340170172. 4

Question Number : 43 Question Id : 68634043082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gqTact SR (A.C) gy (@ﬁfj CARCIRRL (Impedance)
 Rren fopddt (3mgfy) & Ty aRadT aRar g

[ i [ T .1

ey fipesel (3rgfn) & a1y yikad gl gidl o

fa—y

[ ]

 grETdged diees Jid IR 3ATdfed (&) 21
ol T R Rk wRar g

L]

=

Options :

686340170169. 1
686340170170. 2
686340170171. 3
686340170172. 4

Question Number : 44 Question Id : 68634043083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Norton theorem is converse of Thevenin's theorem

Statement II: The determination of internal resistance of the source network 1s identical in Norton's as well as
Thevenin's theorem

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect

LF%]

. Statement I is correct but Statement I1 is incorrect

4. Statement [ 1s incorrect but Statement II is correct

Options :

686340170173. 1
686340170174. 2
686340170175. 3
686340170176. 4

Question Number : 44 Question Id : 68634043083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEEICAICAEUE)

HYF I ; Al (Norton) BT RIS 4G (Thevenin's) F Riid @1 3¢ g

@Y 11 ; ATeA 3R a4 Rgidl o 9id Jead 31 efiaive ufiRly o1 Ry te 9o gidl €1
SWRIdd PYAT P IR H 3T T fasredl # Tel ST &1 99 Bifory ;

1. BYT I AR BYT I HI G 5
2. HYTI1 AR PYT 1 SHI A 6
3. BYF 1 TA & AP HYF 11 39T B

4. FYTI I AfPTsYT I Id Bl

Options :

686340170173. 1
686340170174. 2
686340170175. 3
686340170176. 4



Question Number : 45 Question Id : 68634043084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find Norton's equivalent current to the left of x-y terminal as shown in figure

i

AN A 0 X
30 20
9V j) 60
9}
1.43 A
23 5A
3.4A
4. 3A

Options :

686340170177. 1
686340170178. 2
686340170179. 3
686340170180. 4

Question Number : 45 Question Id : 68634043084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T T 9lRay x-y SHa & a1 SR AlcA [dgyd URI & GudHE i |

i

/}\
\\//
My A o X
30 20
9y (j) 60
o )
145 A
2.3 5A
3.4A
4 3A

Options :



686340170177. 1
686340170178. 2
686340170179. 3
686340170180. 4

Question Number : 46 Question Id : 68634043085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maximum power transfer theorem is based on

A, Ohm's law

B. Thevenin's theorem

C. Superposition theorem
D. Reciprocity theorem
E. Substitution theorem

Choose the correct answer from the options given below:
1. Aand B only
2. B only
3. Aand C only

4, A.B.D. and E only

Options :

686340170181. 1
686340170182. 2
686340170183. 3
686340170184. 4

Question Number : 46 Question Id : 68634043085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i R RIFIARU WHY & He YR S{TeTRd ¢ |

A, 39 P a9 (Ohm's law)
B. 4af yHg

C. YIRS wig
D. YRGB v85g
E. Ufd=ig yag
i fau U faswedl § U e 3R &1 994 By :
1. Pad A IRB
2. had B
3. Fad AR C

4. HAAA. B.D IRE

Options :

686340170181. 1
686340170182. 2
686340170183. 3
686340170184. 4

Question Number : 47 Question Id : 68634043086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Frequency deviation is proportional to the instantaneous amplitude of the modulating voltage.

Statement II: In FM, all components of the modulating signal having the same amplitude will deviate the
carrier frequency by the same amount, no matter what are their frequencies.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement [ 1s incorrect but Statement II is correct

Options :

686340170185. 1

686340170186. 2

686340170187. 3
686340170188. 4

Question Number : 47 Question Id : 68634043086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

e dl ey fiumug
BYA 1 : 31gfl f[dge HigaRHA diecsl & &0 SAH & 3urd H gidl 6|

BYFIL : TP U (FM) B, HisgeiclT Hobd & G Ued ol Ueb g HIdRapdl aTd il d BRER Sgi ol
THH 41§ fa=ferd 31, =g 3991 g o Hi 80

SWRIGd HUAT & UHIRH G0 70 [dFHedl § ol 30 &1 99 DIoTT -

1. PYT [ IR BYF 11 ST T B

| E)

PYTI AR BT SHT A B

HYT 1 9d ¢ T SUT 11 3§

[#5]

4. FYTI HEI e AP PYT I I B

Options :

686340170185. 1
686340170186. 2
686340170187. 3
686340170188. 4

Question Number : 48 Question Id : 68634043087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTII
A Maximum frequency deviation I KV
B. maximum phase deviation II. Kp‘w—m

[nstantaneous value of the PM

B - [V _sin{c .t + mycos ot
~ [Voltage (Vppp O |V smle f mt)

Instantaneous value of the FM v [V sin(m .t + @, +

D Voltage (Vipg) [EpVim cos ogt)

Choose the correct answer from the options given below:
1. A-IT1. B-1. C-III. D-IV
2. A-1. B-1. C-II., D-IV
3. A-I. B-II. C-IV. D-III
4. A-II. B-1. C-IV. D-III

Options :



686340170189. 1
686340170190. 2
686340170191. 3
686340170192. 4

Question Number : 48 Question Id : 68634043087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 %1 Gl 11 & 91y e Sife

e 1 T 11
A |3ffSPdH sgfd [daae I KV
B. [3{feedd <0l fd<cd I KV
PM Tlecal (Vpy,) D1 &0
A
FM dlecdl (Viyp) 1 &0 1y [Vesin(eogt + @, +
e Vi cos opt)

=i fqu U foseal # 9 Hel IR I -

1. A-II. B-1. C-III. D-IV

IIT. |V asin(egt + mycos tpyt)

2. A-L. B-11, C-IIL. D-IV
3. A-L B-II. C-IV, D-III
4. A-IL. B-1. C-IV, D-III

Options :

686340170189. 1
686340170190. 2
686340170191. 3
686340170192. 4

Question Number : 49 Question Id : 68634043088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Antenna 1s an electronic device designed to send and receive electromagnetic waves efficiently.
B. The height of an antenna is specified in terms of wavelength(i).

C. Minimum height of a vertical antenna must be —

D. Minimum height of a vertical antenna must be E

E. Diversity of an antenna depends on its aperture.

Choose the correct answer from the options given below:

1. A.B. C and D only

| )

.A.B. Cand E only
3.B.C.Dand E only
4. A.B.D and E only

Options :

686340170193. 1
686340170194. 2
686340170195. 3
686340170196. 4

Question Number : 49 Question Id : 68634043088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. UEHT US S0 -9 SISV § off [Aegagrad g auill & WHTE! &7 9 Hol- SR W $=4 & g
f&ame P T 8|
B. U WM &1 A e & A= | FAféy &t ordt 81

C. Faaq T 1 A S %é‘rﬁar%m
D. daqd UCHI &I a4 &mégﬁfﬁrﬂ%m
E. UdH & fafguar 3ud vo=k ww A et g1

- fau e faeedf 7 9 Hel SR ol 9= oY
1. $aAA.B.C IR D
2. Pad A B.C 3R E
3.%ddB.C.D 3RE
4. $TAA.B.D 3RE

Options :

686340170193. 1
686340170194. 2
686340170195. 3
686340170196. 4



Question Number : 50 Question Id : 68634043089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: For very high frequency A.C Supply. a capacitor behaves like a pure conductor.

Reason R: At very high frequency. capacitive reactance becomes negligibly small and capacitor behaves like a
pure conductor.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct
4. A is not correct but R is correct

Options :

686340170197. 1

686340170198. 2

686340170199. 3
686340170200. 4

Question Number : 50 Question Id : 68634043089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR P TR 1P € AfieYT (A) & =0 H fEd § O R 99 BRU R) F U H:
SfHFYT (A) : agﬁaa 3R A. ¢ (FTad! URT) 3ATYfd & [0, T HuRiex (FuRe) s deaex ol
|

d<g dgIX fdl

BRI (R) : T50 I TGN TR HURIER (F11E) HiaTd 91708 =0 ¥ Siel 81 9l 3 3R 9uUiE =
Tl Bl g oUdglx <l %I

IWRIGd FUA & AdiD H, A AU U fasedi 3 9 98t IO &1 99 ST
1.A3IRREH 90§ IR R A DI Gl IS &
2. ASRRIAI GO T IR R. AT Gel IR T8l &

3. AT S Afb R 3T B

4 AT APTIRIT B

Options :

686340170197. 1
686340170198. 2
686340170199. 3



686340170200. 4

Question Number : 51 Question Id : 68634043090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a true statement for a SR flipflop?

A. For Inputs S=0 and R=0. outputs are unchanged.
B. For mputs S=0 and R=1, outputs are resetto 6, =0 and 0, =1

C. For inputs S=1 and R=0. outputs are setto 8, =1 and 8,., =0
D. For inputs S=0 and R=1. outputs are resetto 8, =1l and 6., =1
E. For inputs S=1 and R=0. outputs are setto 8,=1and6,.,=1

Choose the correct answer from the options given below:

1. A only
2. Aand B only
3. C and D only
4. D and E only

Options :

686340170201. 1

686340170202. 2

686340170203. 3
686340170204. 4

Question Number : 51 Question Id : 68634043090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fPrafaad § 9 SH-91 9199 Ue U8 3R (SR) Ry iy & foe 98l 781 8

. §=0 3R R=0 & fe1U 313eye fa1 uRafdd gid 31

. §=0 3R R=1 % [eTU ST3TYL 6,=0 3R 6,_ ;=1 W e U & |
- §=1 3R R=0 P f31U 3132YE 6,=1 3R 6,.,=0 TR I [HU T 3|

. §=0 3R R=1 & feM0 2M32YE 6, =1 3R 6, =1 TR e U |
. S=1 3R R=0 % feNU 3TITYT 6, =1 3R 6., = 1 TR Ye [FT A G|

i< fau U fdeedl © 9 99 Sugad 3Tk &1 9GP -
1. $ad A
2. $ad A 3R B
3.%ad C 3R D
4,%qd D ARE

(3 I v I R o I =



Options :

686340170201. 1
686340170202. 2
686340170203. 3
686340170204. 4

Question Number : 52 Question Id : 68634043091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: For an electricE . V X E = 0 implies that the electric field is a conservative field.

Statement II: For magnetic field B, VxB= 0implies that the magnetic monopole can not exist.

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 1s correct but Statement II is incorrect

4. Statement [ 1s incorrect but Statement II is correct

Options :

686340170205. 1
686340170206. 2
686340170207. 3
686340170208. 4

Question Number : 52 Question Id : 68634043091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬂﬁéla?ﬂ?fﬁfqﬂt{%:

FUTT: 0P a3 F B Vx E = 0 . 5o1 o diar & f fagd 8 v el 83 31
SYA I : U T 47 Ba g Vx B = () 5971 of 8t & o ity 87 7 Ui vawies Hivg
el Bl B

SR BYAI P YRR T U MY fadhedi § Uel SR 1 99 P ;

1. BYTI IR BYT I HI G &
2. HYTI AR PYT 1 SHT AT 6

3. PYT 1 9 & AfP BYT 11 3G B

4. YT T & ApT YT 11 T B

Options :

686340170205. 1
686340170206. 2
686340170207. 3
686340170208. 4

Question Number : 53 Question Id : 68634043092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Maxwell's equations are a set of partial differential equations that together with the lorentz force
law form the foundation of classical electromagnetism. classical optics, and electric circuits.

Statement II: One important consequence of the Maxwell's equations 1s that they demonstrate how fluctuating
electric and magnetic fields propagate at the speed of light. there by known as electromagnetic radiation.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement IT is correct

Options :

686340170209. 1

686340170210. 2

686340170211. 3
686340170212. 4



Question Number : 53 Question Id : 68634043092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%féla?ﬂ:{ﬁm“f{%:

HUF 1 ; HaTde & GHIER0 U fGUISH THIEHR0T &1 U Ye ¢ o Y T AN 90 & B & a1
e e d faggagras g, Ffed TaifRe! SR faggd Ifdhel & sMuR & TR SR B

HYA 11 : Hayde & GBI 31 U Hew@yul uRkom 3% ¢ o 9 faad € & faafed faggdia ok greem
&7 UeBT=1 1 T IR Urad ©. [orieh PRUI 3 [aggadrad i USIiifd & & I SfH odl 5 |

SRIGd FYA & UHI T 30 770 f[Amedi § gl IR &1 99 ST -

1. BYT I AR BYT I HI G 5

2. BYTI IR BYT I S A &

3. BYT [ I © T HYF 11 3T B

4. BYT I & AP YT I T B

Options :

686340170209. 1
686340170210. 2
686340170211. 3
686340170212. 4

Question Number : 54 Question Id : 68634043093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ampere's circuital law in magnetostatics is equivalent to which of the following law 1s electrostatics

A. Biot- Savart Law
B. Faraday's law

C. Kirchhoff's law
D. Coulomb's law
E. Ohm's law

Choose the correct answer from the options given below:

1. A.Dand E only

2

. A only
3. Cand E only

4. A. B and E only



Options :

686340170213. 1
686340170214. 2
686340170215. 3
686340170216. 4

Question Number : 54 Question Id : 68634043093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Herefery § tiitir @1 wided Fom. fagga Rrar & Fafafad fow Fan & sasa s s

A Biot- Savart Law
B. Faraday's law

C. Kirchhoff's law
D. Coulomb's law
E. Ohm's law

-4 fau T faeetl § 9 96l 3Tk &1 997 B -
1.Had A.D 3R E
2. hag A
3.%a0C 3R E
4. %ad A. B 3R E

Options :

686340170213. 1
686340170214. 2
686340170215. 3
686340170216. 4

Question Number : 55 Question Id : 68634043094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How 1s the loop (Amperian loop) chosen when using Ampere's law to determine the magnetic field of a
straight. long solenoid 7

A. A circular loop. coaxial with the solenoid

B. A rectangular loop in a plane containing the axis of the solenoid. the loop being totally with in the
Solenoid

C. A rectangular loop in a plane perpendicular to the axis of the solenoid

D. A rectangular loop in a plane containing the axis of the Solenoid the loop being partly inside the solenoid
and partly outside it.

Choose the most appropriate answer from the options given below:
1. A and C Ounly
2. B Only
3.D Only

4. B and D Only

Options :

686340170217. 1
686340170218. 2
686340170219. 3
686340170220. 4

Question Number : 55 Question Id : 68634043094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1Y SR dd HicHIgs & Gad [ ST B Giid B o [¢10 SR &1 B 394N Bd T99 gU
(3FURAT o) B 1 &Il & 2

A, U TIIPR U, Hi-igs & a1y gy
B. HicHigs & ¢RI & Ud SIAI®R U, ol I3l ag 9 HicHIgs & e gidl g
C. UIdHIgS & ¢l & T daBR UbAd SdPR U |
D. "icHISS & ¢ B WIS B aldd de® U AR U, Gl 6 U J dicHigs & 3igR 3R
¥ Fud TR gldl o
i feu 0 f[daredl § U Oel 3R &1 90+ DIl ;
1. Had A IR C
2. $dd B
3.%adD

4. HIAB AR D

Options :
686340170217. 1
686340170218. 2




686340170219. 3
686340170220. 4

Question Number : 56 Question Id : 68634043095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A wire in the form of a square of side 'a’' carries a current 'I'. Then the magnetic induction at the centre of the
square wire 18

(Magnetic permeability of free space = )

i
. B30
2ra

B, HoiV2

Ta

C. E‘NE‘”“F.

Ta

Ligi

' \Emr

Choose the most appropriate answer from the options given below:

D

1. A Only
2. B Only
3. Aand B Only

4. C and D only

Options :

686340170221. 1
686340170222. 2
686340170223. 3
686340170224. 4

Question Number : 56 Question Id : 68634043095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UH TR Ol ' THEIE & il & 0 1 g | TP URT 4 Wil © 1 76 TPR dR & &g J TSI RIS 1 (1
= S yare-ad)

I
A. Hol
2ra

B, Moiv2
Ta

C. Eﬁ;!{,i

ma

Hol

I \fi.?rﬁ
1= f3u T fasedl § 9 Hal OTR &1 =g Sifee .
1. Had A
2. Pad B
3. $adAARB
4.%ad C 3R D
Options :
686340170221. 1
686340170222. 2

686340170223. 3
686340170224. 4

D

Question Number : 57 Question Id : 68634043096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
. 0D
LloE +—
ot

2
<]
sl

Il

X

—

-
(3l T DH
BIVxH = i _Ff
c. 'ﬁ' : H o m| Pv

D_ﬁ’,[_j: v. |0

Choose the correct answer from the options given below:

1. A-III, B-IV. C-1. D-II

[ ]

. A-TV, B-III. C-I1, D-1
3. A-IL. B-1. C-IV, D-III
4. A-1. B-II. C-IV. D-III

Options :

686340170225. 1
686340170226. 2
686340170227. 3
686340170228. 4

Question Number : 57 Question Id : 68634043096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 T i 11 & 91y e Sif .

GElb! FEﬁII_'
5 . aD
AlVXE = Lok +—
__ ot
5 |V = | 98
ot
c'ﬁ'l__'[ = m| Ok
B Y. D = V. |0
frafarad fame H el SR &1 994 Bifoe -

1. A-IIT, B-IV. C-1. D-II
2. A-IV, B-I1IL C-I1, D-I
3. A-IL B-1. C-IV. D-III
4. A-L. B-II. C-IV, D-III

Options :

686340170225. 1
686340170226. 2
686340170227. 3
686340170228. 4

Question Number : 58 Question Id : 68634043097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A }'Ia:x:u_'ell‘. e I |Gauss's Law in magnetostatics
Equation ¥
/ r 1= ).
B. ]Mfa_‘m_ell v I1. |Gauss's law in electrostatics
[Equation
Maxwell's 3rd modified form of Ampere's
C. . | 111 e g
Equation Circuital law
B MEK“:EH 440 IV. |[Faraday's law
Equation :

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV, D-III

[ ]

. A-ILL B-1, C-IV. D-IT1
3. A-IL. B-1 C-III, D-IV
4. A-I. B-III. C-IV. D-II

Options :

686340170229. 1
686340170230. 2
686340170231. 3
686340170232. 4

Question Number : 58 Question Id : 68634043097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

Tt 1 A1
_ Foda @1 ugen wEieeor| 1 e g @ e
OFEdd ol gudl 93] | 11 [[degd RUa & 7Y o 0
TT90 @1 GO}l THIH| I [0 & Haa 9
. [P @ Ty o v [mRe e Faa

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-L. B-II. C-IV, D-III

glo|w|=

| o

A-ILL B-1. C-IV, D-III
3. A-II, B-I C-III, D-IV
4. A-I. B-III, C-IV. D-II

Options :

686340170229. 1

686340170230. 2
686340170231. 3



686340170232. 4

Question Number : 59 Question Id : 68634043098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maxwell's equations in free space or vacuum for time varying field

Choose the correct answer from the options given below:

1.B,C.D. E only

[ ]

.B. C.D only
3.A.B.C.Donly
4. A.B. C only

Options :

686340170233. 1
686340170234. 2
686340170235. 3
686340170236. 4

Question Number : 59 Question Id : 68634043098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e ™ (free space) 1 GHA URGd! &7 & fou (Hala ¥ Hagad &1 SR

= = oD
A'VXH:T
Ol
ry oD
B.VxB-= —
Hy o1
- o B
CVXD:_SH(H—
Ot

EVxH=oF+22
ol
+td fau U fasmedl O T It IR &1 994 B

1.B,C,D.,E only
2.B.C.D only
3.A.B.C.Donly
4. A.B. Conly

Options :

686340170233. 1
686340170234. 2
686340170235. 3
686340170236. 4

Question Number : 60 Question Id : 68634043099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the magnetic flux coming out of the curved surface in free space from the right circular cylinder of radius
2m. height 8m. and 45° <8 < 90°, (® - Azimuthal angle) when H=[3.2 » 10%)/] COS ¢a and

,uD:4fr><10_THfm

1.9.32wb

| )

. 9.42 wb

Lag

L3215 whb
4.32.05wb

Options :

686340170237. 1
686340170238. 2
686340170239. 3
686340170240. 4

Question Number : 60 Question Id : 68634043099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

01 2 m. TS 8 m SR BN 45° <6 < 90°, (VGI P-Azimuthal angle) %maﬁq@%gﬂ:{ﬁ
YATER (curved) 9de 9 FeaH aIdt Irga g YaTg &l 9dl @, Ol H = [3.2 « 10%)r] COS 1,'35(1,. 3R
w, =4rx107" H/m 3

1.9.32 whb

[ ]

.9.42 whb

[¥ 5]

.3215wb
4.32.05 wb

Options :

686340170237. 1
686340170238. 2
686340170239. 3
686340170240. 4

Question Number : 61 Question Id : 68634043100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represent the unit of permeability?
newtons
A 2
(ampere)

Volt x second

“ampere x metre
hen
P it
metre
joule
I |
metre

Choose the correct answer from the options given below:

1. A.B. Conly

| )

.A.B.D only
3.A.C.D only

4.B. C.D only

Options :

686340170241. 1
686340170242. 2
686340170243. 3
686340170244. 4

Question Number : 61 Question Id : 68634043100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fgfafad § 9 ©F Yued yae-1ad S®1s & Ufauiud sidi g

newtons
S —
(ampere)”

Volt x second

B.
ampere x metre

5 henry
metre
joule

D.
3
metre

e e T fawedl & & T8 SR BT 90 B8
1.$dd A, B.C
2. BAd A, B.D
3.PA0A,C.D
4. 94U B.C,D

Options :

686340170241. 1
686340170242. 2
686340170243. 3
686340170244. 4

Question Number : 62 Question Id : 68634043101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For 8085 microprocessor, after the execution of RST6. program execution is transformed to the location:

1.48H

2

.34 H
3.60H
4 30H

Options :

686340170245. 1
686340170246. 2
686340170247. 3
686340170248. 4



Question Number : 62 Question Id : 68634043101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8085 HIEHUHIR & [0, RST6 & ST & 15, UHITH &1 H1U-90- W R RIFIRT eidl 8

1.48H

| )

.54 H
3.60H
4.30H

Options :

686340170245. 1

686340170246. 2

686340170247. 3
686340170248. 4

Question Number : 63 Question Id : 68634043102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The size of Data bus in 8085 microprocessor 18

1. 8 byte

| B

. 16 byte
3.8 bat
4,16 bit
Options :
686340170249. 1
686340170250. 2

686340170251. 3
686340170252. 4

Question Number : 63 Question Id : 68634043102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8085 ATSH MR § 3¢ §9 &1 AHR ¢ |

1. 8 byte

|

. 16 byte
3.8 bat

4. 16 bit



Options :

686340170249. 1
686340170250. 2
686340170251. 3
686340170252. 4

Question Number : 64 Question Id : 68634043103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The number of transistors in 8086 microprocessor 1s

1. 1 million transistor

| B

. 29000 transistor
3. 10 Billion transistor
4. 50000 transistor
Options :
686340170253. 1
686340170254. 2

686340170255. 3
686340170256. 4

Question Number : 64 Question Id : 68634043103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
8086 ASHMEER I Tiforex] ®f = 3
1. 1 fafemA giferex
. 29000 TIToTeR
3. 10 Tafera= giforeer
4. 50000 TiforeR

| B

Options :

686340170253. 1
686340170254. 2
686340170255. 3
686340170256. 4

Question Number : 65 Question Id : 68634043104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EPROM stand for

1. Erasable programmable Read only memory

b2

. Enable programmable Read only memory

L¥ 5]

. Erasable Programmable Random only memory
4. Enhanced Programmable Read only memory

Options :

686340170257. 1

686340170258. 2

686340170259. 3
686340170260. 4

Question Number : 65 Question Id : 68634043104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EPROM &1 Y B
1. Erasable programmable Read only memory
2. Enable programmable Read only memory
3. Erasable Programmable Random only memory
4, Enhanced Programmable Read only memory
Options :
686340170257. 1
686340170258. 2

686340170259. 3
686340170260. 4

Question Number : 66 Question Id : 68634043105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In PUSH B instruction, the address bus contents in Ti's of memory. Write machine cycles are
1. PC+1 and PC+2
2. SP-1 and SP-2
3. PC+1 and SP-1

4. PC-1 and PC-2

Options :
686340170261. 1
686340170262. 2



686340170263. 3
686340170264. 4

Question Number : 66 Question Id : 68634043105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Push B 9 &, 30 Wige 0efi Orsferd & T & SR Ud1 99 & 9 gid g
1. PC+1 3R PC+2

_SP-1 3 SP-2

| )

PC+1 3R SP-1

L

4. PC-1 3R PC-=2

Options :

686340170261. 1
686340170262. 2
686340170263. 3
686340170264. 4

Question Number : 67 Question Id : 68634043106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The decimal equivalent of 6B2 4 1s

LA

[

171455
3. 1417y,
4.21234,

Options :

686340170265. 1
686340170266. 2
686340170267. 3
686340170268. 4

Question Number : 67 Question Id : 68634043106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6B2, ¢ BT GATA (decimal) THHE T |

1. (1123)40

| )

(1714)4g
3. (1417)0
4. (2123)4,
Options :
686340170265. 1
686340170266. 2

686340170267. 3
686340170268. 4

Question Number : 68 Question Id : 68634043107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The fastest memory in computer 1s

1. Cache memory

| )

. On - chip register memory
3. Semiconductor memory
4. RAM

Options :

686340170269. 1

686340170270. 2

686340170271. 3
686340170272. 4

Question Number : 68 Question Id : 68634043107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR T o doll 9 UaEy B o arell TOR 5
1. Cache memory
2. On - chip register memory
3. Semiconductor ( S{‘Ehﬂf'ﬁ?_j memory
4. RAM

Options :
686340170269. 1



686340170270. 2
686340170271. 3
686340170272. 4

Question Number : 69 Question Id : 68634043108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Interrupts are externally initiated by /O devices in 8085 microprocessor

Reason R: Interrupts are asynchronous is nature

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R 13 correct

Options :

686340170273. 1
686340170274. 2
686340170275. 3
686340170276. 4

Question Number : 69 Question Id : 68634043108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A9 3 FYA UL T : TS § S0Py (A) T =0 1 [0fEd § df %1 396 01 (R) & =1 1
YU (A) : 8085 HISHIUIERR H 1/0 7 §RT 5e0H (FaUM) P g6 T7 I HRH a1 Tl |

BRI (R) : TGH (S20) YDA T SHITHNaD o |

SIRIGd BYA & Sfaid H, A ST T fasmeal 7 ¥ Het ST &1 98- DIoI;
1. A SR R G 9T B SR R, A P gl U §
2. A SRR GHI 9§ IR R, AP el ARA 6l §

3. AT E AP R T B

4 AT APIRIAR

Options :

686340170273. 1
686340170274. 2
686340170275. 3



686340170276. 4

Question Number : 70 Question Id : 68634043109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
XTHL is

A. One byte mnstructions

B. One byte and 5- machine Cycle instruction.
C. Two byte and two machine Cycle instruction.
D. Three byte and 5- machine Cycle instruction.
E. One byte and one machine Cycle instruction.

Choose the correct answer from the options given below:

1. Aand B only

b2

.C.D and E only
3.D and E only
4. A.B.C.DandE

Options :

686340170277. 1
686340170278. 2
686340170279. 3
686340170280. 4

Question Number : 70 Question Id : 68634043109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

XTHL Bl

A. 193¢ SERAYH

B. 1 915¢ 3N 5 A8fH G5 SR
C. 2 €15¢ 3R 2 7= Gs @ d SeRaYH
D. 3 93¢ 3R 5 A= G5 @ d S RawH
E. 1 915¢ 3R 1 =7 G5ad SeRawH

i fdu e fdaredl |§ ¥ Uel IR 4o
1. $ad A R B
2. $qUC,D.E
3. $4dD.E

4. A B.C.D.E

Options :



686340170277. 1
686340170278. 2
686340170279. 3
686340170280. 4

Question Number : 71 Question Id : 68634043110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following machine cycle are involved in executing PUSH D instruction.

A, Fetch and two read

B. Fetch and two write

C. Fetch. read and write

D. Fetch. write and read

E. Only Fetch machine cycle

Choose the correct answer from the option given below:
1. B Only
2. A B Only
3.D. E Only
4, C Only

Options :

686340170281. 1
686340170282. 2
686340170283. 3
686340170284. 4

Question Number : 71 Question Id : 68634043110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PUSH D Fe¥ &1 srifad &= # Ffaiad o= agfea i e gl

A. Fetch 3R &l read
B. Fetch 371 Tl write
C. Fetch, read 31X write
D. Fetch, write 31X read

E. &5dd Fetch AL Tgfdd
e feu e famedf § @ et ST g Y
1. $dd B
2. AU A B
3. $dd D, E
4.Padc

Options :

686340170281. 1
686340170282. 2
686340170283. 3
686340170284. 4

Question Number : 72 Question Id : 68634043111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 8086 microprocessor has

A 16-bit address and 20-bit data bus

B. 16-bit data and 20-bit address bus

C. Both address and data buses are 30-bit

D. has 6-byte opcode fetch queue

E. employs the concept of fetch execution ovelap

Choose the most appropriate answer from the options given below:

1. A and B Only

[ ]

.B.D and E Only
3. A, COnly
4. B Only

Options :

686340170285. 1
686340170286. 2
686340170287. 3
686340170288. 4



Question Number : 72 Question Id : 68634043111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8086 HISHIMEER T & -

A. 16-bit T3 (UT) 3R 20-bit STeT & |

B. 16-bit STeT 3R 20-bit USH &4

C. S TS 3R S1ET 89 30-bit F B

D. 6-byte opcode L] ] (queue) |

E. B9 U9 UaoilagR SaRad & S@URUN &1 399R SHRdl ¢

e fau o faoredi | U 95l IR &1 90 B

1. $dd A 3R B
2. HIAB. D IRE
3. HBIAAARC
4. Hdd B

Options :

686340170285. 1

686340170286 2

686340170287. 3
686340170288. 4

Question Number : 73 Question Id : 68634043112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A 80.86 . I |Non-maskable interrupt
MiCTOPrOCessor
B. |Trap II. 16500 transistor
C.RIM 11 |20 bit address 16 bat data
D. 80.85 v i_C'riTes information about the pending
microprocessor interrupts

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. AL B-1. C-IV. D-II
3. A-L B-III. C-IV. D-II
4. A-IV. B-11I. C-I1. D-I

Options :
686340170289. 1



686340170290. 2
686340170291. 3
686340170292. 4

Question Number : 73 Question Id : 68634043112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 I 11 & 91y e SIfe .
A1 T 11

A [s086 ATSHUEEI| I [Non-markable interupt

B. |Trap 1L J6500 Ziforex (transurtor)
CRIM IIT. |20 bit address 16 bit SIC
D

_ |z08s aEwiEER | 1v. [dfed v@ac & SR H SR@R cd §
Fafaiad foeedl © I8! SR &1 994 DI -

1. A-I. B-II. C-III. D-IV

2. AL B-1. C-IV. D-II
3. A-L. B-III, C-IV. D-II
4. A-IV. B-11I. C-I1, D-I

Options :

686340170289. 1
686340170290. 2
686340170291. 3
686340170292. 4

Question Number : 74 Question Id : 68634043113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements I : The size of Address bus in 8085 microprocessor is 16 bit.

Statements IT : The lower order address bus 1s multiplexed with data bus in 8085 microprocessor.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement I are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 1s true

Options :

686340170293. 1
686340170294. 2
686340170295. 3



686340170296. 4

Question Number : 74 Question Id : 68634043113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIERARCIC AU
HUF : 8085 HISPHIVIIIR T UoH 59 &1 TPHR 16-bit BIdl &
DU I1 : 8085 HISPIWIRR U Heepdl U a9 SIel &9 & 1Y Hec e (multiplexed) T SaT &1
SWRIG Yl & 3fald & fGU T fabedl § Ul IR &1 99 BT :

1. PYT [ IR BYT 11 ST T B

2. PYTI IR BYT I ST T

3. YT 1 9d ¢ Al DU 11 3 o

4. FYTI HEI e AfPT P I Ia Bl

Options :

686340170293. 1
686340170294. 2
686340170295. 3
686340170296. 4

Question Number : 75 Question Id : 68634043114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Schrodinger equation is an equation of

1. Conservation of linear momentum
2. Conservation of energy
3. Conservation of angular momentum
4. Conservation of charge

Options :

686340170297. 1

686340170298. 2

686340170299. 3
686340170300. 4

Question Number : 75 Question Id : 68634043114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YfETR (Schrédinger) T HIGIU Udh GHIHRUT &
1. WY AT EI&UT (Conservation of linear momentum)
2. Fooll TRETT (Conservation of energy)
3. DIUITY G TREU (Conservation of angular momentum)
4. 39T &I (Conservation of charge )

Options :

686340170297. 1
686340170298. 2
686340170299. 3
686340170300. 4

Question Number : 76 Question Id : 68634043115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
From the Einstein's relation it is found that when degeneracy of two states are equal, then

A Probability of absorption (B,) 1s greater than stimulated emission (B,)
B. Probabulity of absorption (B1,) 1s equal to stimulated enussion (B,;)
C.Bj; =0and By =
D. B, =wand By, =0
E. B),=8, _i

2

Choose the correct answer from the options given below:
1. A.E only
2. B only
3. C only

4. D only

Options :

686340170301. 1
686340170302. 2
686340170303. 3
686340170304. 4

Question Number : 76 Question Id : 68634043115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEEH P S99 g a1 & {6 oie o fRufodi &1 Spreat saF Bkt 8. 99

A, AT B HHIEHT (By) S Nd HBILH (B,;) U 4@ Bidt 81
B. GRIYU B GHTGAT (B1,) I 0d BN (By;) T TRIER Bl 6
C.Bj; =0and By =

D. B, =wand By, =0

E. B,=8, _%

i< o 7Tt faweyl © § el STR &1 90+ HIfuIT ;
1. HaA A ARE
2. $ad B
3. %ad C
4. Had D

Options :

686340170301. 1
686340170302. 2
686340170303. 3
686340170304. 4

Question Number : 77 Question Id : 68634043116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The coordination numbers in case of simple cubic (SC). body centered cubic (BCC) and face centered cubic
(FCC) are respectively given as

112415425

[ ]

6:8:12
3.8:18:28
A 015925

Options :

686340170305. 1
686340170306. 2
686340170307. 3
686340170308. 4

Question Number : 77 Question Id : 68634043116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR I (sc). 3 Blad O (bee)HR TAF driad U (fec) P AHT H FHaxnid I HA: &1 715 6

: G L G i

405155 25

Options :

686340170305. 1
686340170306. 2
686340170307. 3
686340170308. 4

Question Number : 78 Question Id : 68634043117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy and momentum difference between ground state (n = 1) and the first excited state (n = 2) for an

atom 1in a box of length 2A s

1.E,—E;=5x10207:P,— P, =6.66 x 10°* kg m/sec
2.E,—E; =0454x 107 T : P, —P; = 1.66 x 10~°* kg m/sec
3.E,—E;=3x10"12J:P,—P; =4.63 x 1072° kg m/sec
4.E,—E; =1.848 x 107197 : P, —P; =3.14 x 107! kg m/sec

Options :

686340170309. 1

686340170310. 2

686340170311. 3
686340170312. 4

Question Number : 78 Question Id : 68634043117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2A Tl U g9 T U FRA] & T3S (ST SERT (n = 1) 3R Tgd! Suford Hawl (n =2) & dig Hall
IR GUHH R B

1.E,—E;{=5x1022]:P, —P; = 6.66 x 10~>% kg m/scc
2.E,—E;=0454x 1077 T ; P, —P; = 1.66 x 1072 kg m/sec
3.E,—E;=3x10"127:P,—P; =4.63 x 1072 kg m/sec

4.E,-E,;=1848x107197.P,—P,; =3.14 x 10?! kg m/sec
Options :
686340170309. 1
686340170310. 2

686340170311. 3
686340170312. 4

Question Number : 79 Question Id : 68634043118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled Assertion A and the other is labelled as Reason R

Assertion A: Energy dispersive X-ray spectroscopy accessory is integrated with scanning electron
microscopy SEM of elemental analysis.

Reason R: The interaction of mecident electrons eject characteristic X-rays from the sample.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A i1s not correct but R is correct

Options :

686340170313. 1
686340170314. 2
686340170315.3
686340170316. 4

Question Number : 79 Question Id : 68634043118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A9 3 FYA UL T : TS § S0Py (A) T =0 1 [0fEd § df %1 396 01 (R) & =1 1

STGY (A) : Foll AR 2301 (x-rays) I "B UT e daleld G20 & a1 gadeH
HISHID Y & 91y gifed gar g

BRI (R) : AT SiagHl &1 IRER 6ar 907 I a2 x-ray Iaford @l o
SIRIGd BYA & Sfaid H, i ST 7 fasmeai 7 ¥ ¥et ST &1 98- S -
1. A R R G 90§ SR R, A P gl Ul §
A SRR EH TU© IR R. AP Ug| UR 8l &
ATITABIR ST

4 ANTITAPTIRIATE

[

L]

Options :

686340170313. 1
686340170314. 2
686340170315. 3
686340170316. 4

Question Number : 80 Question Id : 68634043119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The step index fibre has a bandwidth of

1.20 kHz
2. 50 MHz
3. 100 GHz
4. 150 MHz

Options :

686340170317. 1

686340170318. 2

686340170319. 3
686340170320. 4

Question Number : 80 Question Id : 68634043119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WY 3T (step-index) PIFR B dsfasy (@S o1 9191) ST

1. 20 kHz

-2

.50 MHz
3. 100 GHz

4. 150 MHz

Options :

686340170317. 1
686340170318. 2
686340170319. 3
686340170320. 4

Question Number : 81 Question Id : 68634043120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a necessary condition for quantum mechanical tunneling in a tunnel diode.

A. Occupied energy states exist on the side from which the electron tunnels

B. Unoccupied energy states exist on the side to which an electron can tunnel

C. The tunneling potential barrier height should be high enough for finite tunneling probability
D. The tunneling barrier width should be small enough that there is a finite tunneling probability
E. The momentum should be conserved in the tunneling process

Choose the most appropriate answer from the options given below:

1. A only

[ ]

. C only
3. B only
4. D only

Options :

686340170321. 1
686340170322. 2
686340170323. 3
686340170324. 4

Question Number : 81 Question Id : 68634043120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oA SIS § BicdhH (quantum) AdHad edfer & fau Fafafea % 3 o194t smavoe od 2 21

A, 3t Soif FRufof 39 TR i g1t & oef 3 §ade - e axdl g
B.@Wﬁ(unoccupied)WWWWW%%G@T@WWW%I
. a:ﬂe[ﬁﬂlﬁﬁﬂ FTYT (tunneling potential barrier) B 3rdTg HHd G &= @1 GHIGT & g g

gjﬂ'lei DI GYTad aTel (tunneling potential barrier) @1 TSTs VIHd YT S B UG & &0 HTEHT
el
E. Wmﬁﬁm (tunneling process) H T @ TRI&T @1 ST ATigU|

=i fau 7T faw et 7 € Hel STk T 90 oY
1. ad A
2. %ad C
3. $ad B
4.$gdD

Options :

686340170321. 1
686340170322. 2
686340170323. 3
686340170324. 4

Question Number : 82 Question Id : 68634043121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Most of the extraordinary optical properties of nanostructures arise from the quantum
confinement of charge carries in a nanostructure

Statement IT: Most of the extraordinary mechanical properties of nanostructures arise from the quantum
confinement of charge carriers in a nanostructure.

In the light of the above statements. choose the correct answer from the options given below:

1. Both statement I and statement I are true
2. Both statement I and statement II are false
3. Statement I is true but statement I is false
4. Statement I is false but statement IT is true

Options :

686340170325. 1

686340170326. 2

686340170327. 3
686340170328. 4



Question Number : 82 Question Id : 68634043121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYT I : TIREFER (nanostructures) 3 HUHTY SIYR AP [0 RS =R § I8®| & HicH URIHT o
RCERSGE]

mf:iéﬂ - TR R & HTHTE SR Tifie 07 A-RgdaR | ai6®] & ®ieH (quantum) IREHT ¥ 34
BId gl
SURIF HYUAT D YPI H {40 7T fdhedl T et IR &1 98- HIfoil -

1. PYT I IR PYT IS T Bl

2. FYF 1 IR YT I SHT ST &l

3. YT II T AP FYT 11 ST T

4, FYT A ¢ AP PUTII T © |

Options :

686340170325. 1
686340170326. 2
686340170327. 3
686340170328. 4

Question Number : 83 Question Id : 68634043122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A Superlattice 1s formed when
1. two quantum wells are separated by a thin barrier layer
2. two quantum wells are separated by a thick barrier layer
3. two quantum wires are joined together laterally
4, two quantum wires are joined together using a thick separator
Options :
686340170329. 1
686340170330. 2

686340170331. 3
686340170332. 4

Question Number : 83 Question Id : 68634043122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% YURATeY 99 a1 8 o

1. 31 &ieH (quantum) ¢ Tdel STYTHIGA® ORd GRI AT B & |

[ ]

.Gl @IeH (quantum) dd HI] ATYUTHIAd® U3d GRI AT Bld ¢ |

<1 HieH IR JrHoRIJd® Th 1Y 954 &
TS B AT B &1 TN TP gl HicH dRI I TS 1Y SIS S g

L]

=S

Options :

686340170329. 1
686340170330. 2
686340170331. 3
686340170332. 4

Question Number : 84 Question Id : 68634043123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following curve represents the density of states of a quantum well?
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Options :

686340170333. 1
686340170334. 2
686340170335. 3
686340170336. 4

Question Number : 84 Question Id : 68634043123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340170333. 1
686340170334. 2
686340170335. 3
686340170336. 4

Question Number : 85 Question Id : 68634043124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statement: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Reduction in the size of a particle to the nanoscale range results in the increase in its chemical
activity.

Reason R: Due to large surface to volume ratio a nanoparticle has more atoms on the surface in comparison to
that in the volume, therefore the particles has a large surface energy.

In the light of the above statement. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct and R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

686340170337. 1
686340170338. 2
686340170339. 3
686340170340. 4

Question Number : 85 Question Id : 68634043124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Gl YA (UL § - U © DY (A) & =0 I [0lEd ¢ dl g3R1 396 SRUI(R) & =4 4
SHTEY (A) : UH 0 & PR DI A d AU H & S Y IUB] oa Taidie J 3iG gidl

HRU(R) : 95 Hds Y AT YT & SR, =1 b1 H 31d] &1 H=1 §ag 9 HTdl B ga-1 o
Tl ot FwE e gidl €. SHIe uIg © TP §o| del Soll eldi o

SWRIG] BYF & 3ATdiD H, °d QU MU f[dwegl T I Te1 IR &1 99 HioIg:
1. ARREA TR IR R AP TSI TR &

2. A SRR GHI G B 3R R, A & Ul AR 6l

3. AT E AP R ITT B

4 AT APTIRTAR

Options :

686340170337. 1
686340170338. 2
686340170339. 3
686340170340. 4

Question Number : 86 Question Id : 68634043125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Probability of a particle to tunnel through a barrier of Length L is proportional to

2m
Given (f = |—— (U i E ) where m is mass of the particle. Uy is barrier height and E is energy of

h?

particale.

Options :

686340170341. 1
686340170342. 2
686340170343. 3
686340170344. 4

Question Number : 86 Question Id : 68634043125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o = Z_T (U” —E) Wel M U1 & YR, SR &1 HaTg iR E B0 &t Gl 6
h

Options :

686340170341. 1
686340170342. 2
686340170343. 3
686340170344. 4

Question Number : 87 Question Id : 68634043126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In scanning electron microscopy which of the following types of emitted electrons can be used to analyze the
crystallographic information of the sample.

1. Backscattered electrons

[ ]

. Secondary electrons
3. Auger electrons

4. Transmitted electrons

Options :

686340170345. 1
686340170346. 2
686340170347. 3
686340170348. 4

Question Number : 87 Question Id : 68634043126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 11 Uae 19 A1 R YT H. T (sample) Bl AU D FHBRI Bl [dRAT0] B3 & (U
Fafiied 4 H 3 YoR & 309 saacH wanT f6u o1 ¥ad §

 HhUsl gaide
YaTfed gaagi

Options :

686340170345. 1
686340170346. 2
686340170347. 3
686340170348. 4

—

[

L]

=

Question Number : 88 Question Id : 68634043127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



At present the highest point resolution achieved by a high resolution transmission electron microscope is:
0.5
0-5A
) .
0-05A
o=
SA

1A

Options :

686340170349. 1
686340170350. 2
686340170351. 3
686340170352. 4

Question Number : 88 Question Id : 68634043127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qoH H U6 3 Yh o URITHA Sade |9 HIsH e g gRI W 31 T 9aie (45 Sdad od

(Reomaegz) T E 2
1.0.5A
2.0.05A
35A

1A

Options :

686340170349. 1
686340170350. 2
686340170351. 3
686340170352. 4

Question Number : 89 Question Id : 68634043128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LIST 1T
A loptical band gap of a material L eiekey D cuve Koy
spectroscopy
B. |Crystal structure of a material II. [Raman spectroscopy
. Eleme_ntal information of a fif. B cav ditaction
material 2
D. Information about vibrational ol T

and rotation energy levels

Choose the correct answer from the options given below:
1. A-IV. B-1. C-11. D-ITI
2. A-TV. B-11. C-1. D-III
3. A-IV, B-1I1, C-1. D-II
4. A-1. B-II. C-III. D-IV

Options :

686340170353. 1
686340170354. 2
686340170355. 3
686340170356. 4

Question Number : 89 Question Id : 68634043128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T 1 AT 1
A [gerd @ JHiiPdd §3 ARTd L [Sull THRU U Y T bl
B. [gard @ fheed Uaal 11 R Eae&h ]
C_ [ferd @1 afa® SHeR 111 [oeRX gl
D. [aI5si¥H 3R IHEY 3ol TR & aX 3 aH®R | IV, [781-81 313 T8 Tae bl (UV-visible spectroscopy)
frafaRad foeed & 3 98t TR &1 991 DI

1. A-IV. B-I. C-II, D-III

| o

. A-IV, B-1I, C-I, D-III
3. A-IV. B-1II. C-I. D-II
4. A-1. B-I1. C-III, D-IV

Options :

686340170353. 1

686340170354. 2
686340170355. 3



686340170356. 4

Question Number : 90 Question Id : 68634043129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is not an advantage of a Thermistor?
1. low cost
2. flexibility in size and shape
3. high resolution
4. fast response
Options :
686340170357. 1
686340170358. 2

686340170359. 3
686340170360. 4

Question Number : 90 Question Id : 68634043129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafaa § 9 oH-a ufifer sram et 8

1. 3= lld

 HR AR R H T
3. 3 e
4. 3= yfdfcpar

Options :

686340170357. 1

686340170358. 2

686340170359. 3
686340170360. 4

| )

Question Number : 91 Question Id : 68634043130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Diode Thermal Sensor is based on:

1. Diffusion current in p-n junction

b2

. drift current in p-n junction

L¥ 5]

. differential potential barrier in a p-n junction
4. the operation of a diode as a volve

Options :

686340170361. 1
686340170362. 2
686340170363. 3
686340170364. 4

Question Number : 91 Question Id : 68634043130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sTs yHa IR Fufaf@d R aneika §

. p-n SigeE H [GTR0r ¢RI (Diffusion current)

oy

| )

.13-11Wﬁ%§iﬂ?f
. p-n SR H faves uiciRud iR
TP SIS & T9 H SMs & IREe- 1)

5]

=

Options :

686340170361. 1
686340170362. 2
686340170363. 3
686340170364. 4

Question Number : 92 Question Id : 68634043131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following effect is not related to the operation of a thermocouple?
1. Seeback effect
2. Peltier effect
3. Meissner effect

4, Thomson effect

Options :
686340170365. 1



686340170366. 2
686340170367. 3
686340170368. 4

Question Number : 92 Question Id : 68634043131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad o 9 S H-81 9uIe yHieud & Sara 9 dafed 78l 8 2
1. Hid® uyrE

 Uecia? gH1d

 HIER g

[ ]

L]

4. YTA9- YH@

Options :

686340170365. 1
686340170366. 2
686340170367. 3
686340170368. 4

Question Number : 93 Question Id : 68634043132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a chemical sensor:

1. Ion- Sensitive field effect transistor

[ ]

. Biosensor

L]

. Catalytic - metal sensor
4. Interdigital Transducer

Options :

686340170369. 1
686340170370. 2
686340170371. 3
686340170372. 4

Question Number : 93 Question Id : 68634043132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafaa § 3 -9 Ierie d9es 788
1. ST IUATHD &3 YU Eﬂif%iE? (lon- Sensitive field effect transistor)
2. SRR

o

3. Befafe® HTd daD (Catalytic - metal sensor)

4. ZefSioIcT W (Interdigital Transducer)

Options :

686340170369. 1
686340170370. 2
686340170371. 3
686340170372. 4

Question Number : 94 Question Id : 68634043133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Hall Plate’ 15 a type of:

1. Mechanical sensors

| )

. Optical sensors
3. Chemical sensors
4. Magnetic sensors

Options :

686340170373. 1

686340170374. 2

686340170375. 3
686340170376. 4

Question Number : 94 Question Id : 68634043133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BId @IT (Hall Plate) U6 UOR 31 8
1. HHHod dda® (Mechanical sensors)
2. 3H1fPHd Hagd (Optical sensors)
3. Hifdd Ydgh (Chemical sensors)
4, TUfeH dded (Magnetic sensors)

Options :



686340170373. 1
686340170374. 2
686340170375. 3
686340170376. 4

Question Number : 95 Question Id : 68634043134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the is labelled as Reason R
Assertion A: Hall plates are not practical until the realization of semiconductors

Reason R: Hall effect is very strong in metals

In the light of the above statements, choose the correet answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R is not Correct

4, A is not correct but R is correct

Options :

686340170377. 1
686340170378. 2
686340170379. 3
686340170380. 4

Question Number : 95 Question Id : 68634043134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 g HYA (UL § - U § NPy (A) & =0 I [01Ed ¢ dl g8 39 01 (R) & =1 I
SfEHYA (A) : Adaa®! T Ui 9% 8id wid ATagING Tai sld ol
RO (R) : §Ic WUTT (Hall effect) YT H 9gd Holgd gial o |
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1 ASRREH G T AR R AT T OrE §
2 ASRREAIAE AR R A DI TG AR T8l §

3. AAE APAR T ©

4 ANTIEABPTRITE

Options :
686340170377. 1
686340170378. 2



686340170379. 3
686340170380. 4

Question Number : 96 Question Id : 68634043135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Correct sequence of steps in Photolithography process 1s:

A. Wafer cleaning

B. Coating of photoresist

C. Pre-bake or primer coating
D. Exposure

E. Development

Choose the correct answer from the options given below:
1.LE.ID A C.B
2ACBED
3.A.C B, D E

4.B.A.C.D.E

Options :

686340170381. 1
686340170382. 2
686340170383. 3
686340170384. 4

Question Number : 96 Question Id : 68634043135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIeTdaTs! ufchar & =)ol &1 98l HH & |

A TBR m (Wafer cleaning)

B. HIGIU (Coating) Afaese gard &1

C. W-ad a1 UTSHR UXd (Pre-bake or primer coating)
D. TaHYIoR (Exposure)

E. G 6] (Development)
- fau 7T famedi § 9 Tel ST &1 90 31

1.LEDACB

2

A C.B.E. D

3JACCB.D.E

4B, A.C.D.E



Options :

686340170381. 1
686340170382. 2
686340170383. 3
686340170384. 4

Question Number : 97 Question Id : 68634043136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI
LISTII
Sensor :
; Meaning
Terminology
The maxaimum of the measurand 1n the
A |Range L : -
= operating range of a sensor
B. [Full scale I The minlimum value of measurand or of a
output signal
. The smallest change in the measurand that
C. [Zero II1. : =
the sensor 15 able to detect
) . [The extent of values over which the
D. |[Eesolution IV 2
measurand and intended to measure

Choose the correct answer from the options given below:

1. A-I1. B-1. C-IV. D-I1I
2. A-IL B-I. C-II1, D-IV
3. A-I. B-II. C-IIL. D-IV
4. A-TV. B-1. C-I1. D-III

Options :

686340170385. 1

686340170386. 2

686340170387. 3
686340170388. 4

Question Number : 97 Question Id : 68634043136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

A1 & 11
RECERICACIE 0]
A |97 (Range) 1 [Hded & SdreH O 8 903191 &1 Sitdad
B. [q01 OHM (full scale)| 11 |33 Tahd o AUIHMA $1 a9 HA
C. [ (Zero) 11 [A1Y H ¥ad @121 YRad- 51 Haad udl aill+ H 9&H &
D. [G&@H (Resolution)| TV. [AT0HM &1 A0 & ot foM 9H1 @1 G4 BId1 €, 39®1 (9%
fafafad fae i & 9 98l SR &1 99 ST :

1. A-IT. B-1. C-IV. D-ITI
2. AL B-1. C-IL. D-IV
3. A-I. B-1I. C-IIL. D-IV
4. A-IV. B-1. C-I1. D-III

Options :

686340170385. 1

686340170386. 2

686340170387. 3
686340170388. 4

Question Number : 98 Question Id : 68634043137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not an electrochemical sensor?

1. Potentiometric sensors
2. Amperometric sensors
3. Magnetometric sensors
4. Impedimetric sensosr

Options :

686340170389. 1

686340170390. 2

686340170391. 3
686340170392. 4

Question Number : 98 Question Id : 68634043137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFofefGa s g e U a_q:'ﬂ?f IMAD Ydad (electrochemical sensor) el % 2
1. Wﬁlﬁﬁﬁﬁ Tdad (Potentiometric sensors)
% mﬁﬁiﬁa? Hdgoh (Amperometric sensor)
n W@ﬁ Hdcd (Magnetometric sensor)
4. SIYTETYT Hdadh (Impedi metric sensor)

Options :

686340170389. 1
686340170390. 2
686340170391. 3
686340170392. 4

Question Number : 99 Question Id : 68634043138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Sensitivity of a sensor 1s defined as the ratio of the amount of change in output signal from an
amount of change in the input measurand.

Statement IT : Stability of a sensor 1s the ability of a sensor to maintain its performance over tune.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4, Statement [ 1s false but Statement II is true

Options :

686340170393. 1
686340170394. 2
686340170395. 3
686340170396. 4

Question Number : 99 Question Id : 68634043138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%félam:{ﬁfqﬂt{%:

TYT L ; Ydad &I FdaT=iiadl &l TR a1 ol § o 33eye ded & Udhiar A1diaE &
qRad ©1 HE1 & S & F9 3 giar gl

guqn:ﬁﬁwaﬁ@wwmﬁ &I ol Tdgd &1 909 & 1Y U WS T &I 94910 Wa § J&W F4 7
I

SRIGd FYA & UHI T 30 770 f[Amedi § gl IR &1 99 ST -

1. BYT I AR BYT I HI G 5

2. HYTI1 AR PYT 1 SHI A 6

3. YT [ I © W HYF 11 3T B

4. FYTI I AfPT ST I Ia B

Options :

686340170393. 1
686340170394. 2
686340170395. 3
686340170396. 4

Question Number : 100 Question Id : 68634043139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Reason that limits the development of carbon Nanotubes as sensing element.

. Synthesis. methods produce mixture of metallic and semiconducting CNT's.
. Surface modified CNT's are compatible with living Organisms such as cells.
. CNT's are synthesized using expansive precursors.

. Single walled carbon nanotubes are entremely sensitive.

lw ol vib-

Choose the meost appropriate answer from the options given below:

1. A Only
2. B Only
3. C Only
4. D Only

Options :

686340170397. 1

686340170398. 2

686340170399. 3
686340170400. 4



Question Number : 100 Question Id : 68634043139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a8 BRUI S AT dd & =0 T B1aA el & [qo & i FRa1 s -

A. IR0 USfa IR refaTae g HraT SHiegs BT YU 399 BT B

B. q@umﬁ W(Surface modified CNT) Hifrmrsdf o wifad oiaf & 91y 9 8id B
C. T &1 7eT T IUTN TP ST (a1 o |

D. U d 41aR aId dla- --1edd HNdd Jde-%0d 6id o

e fau o faoredi 5 O 9gl IR &1 90+ DI

1. Fad A
2. Padd B
3.%adC
4. HadAD

Options :

686340170397. 1

686340170398 2

686340170399. 3
686340170400. 4




